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𝑰 = ∫
𝐥𝐧(𝟏 + 𝒙) 𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝟏 + 𝒙)𝟐
𝒅𝒙

∞

𝟏

=
𝟏

𝟐
∫ 𝐥𝐧(𝟏 + 𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)𝒅 (

𝒙 − 𝟏

𝒙 + 𝟏
) , 𝒕 =

𝒙 − 𝟏

𝒙 + 𝟏
=> 𝒙 =

𝟏 + 𝒕

𝟏 − 𝒕

∞

𝟏

 

𝑰 =
𝟏

𝟐
∫ (𝐥𝐧(𝟐) − 𝐥𝐧(𝟏 − 𝒕))(𝐥𝐧(𝟐) + 𝐥𝐧(𝒕𝟐 + 𝟏) − 𝟐 𝐥𝐧(𝟏 − 𝒕))𝒅𝒕 =
𝟏

𝟎

 

𝟏

𝟐
∫ (𝒍𝒏𝟐(𝟐) + 𝐥𝐧(𝟐) 𝐥𝐧(𝒕𝟐 + 𝟏) − 𝟑 𝐥𝐧(𝟐) 𝐥𝐧(𝟏 − 𝒕) − 𝐥𝐧(𝟏 − 𝒕) 𝐥𝐧(𝟏 + 𝒕𝟐) + 𝟐𝒍𝒏𝟐(𝟏 − 𝒕))𝒅𝒕
𝟏

𝟎

= 
By integration by parts, we easily find: 

∫ 𝐥𝐧(𝟏 + 𝒙𝟐)𝒅𝒙 = 𝒙(𝐥𝐧(𝟏 + 𝒙𝟐) − 𝟐) + 𝒕𝒂𝒏−𝟏(𝒙) + 𝑪 

 

∫𝒍𝒏𝟐(𝟏 − 𝒙)𝒅𝒙 = 𝟐𝒙 + (𝒙 − 𝟏) 𝐥𝐧(𝟏 − 𝒙) (𝐥𝐧(𝟏 − 𝐱) − 𝟐) + 𝐂⁡ 

 

𝑰 =
𝟏

𝟐
𝒍𝒏𝟐(𝟐) +

𝟏

𝟐
𝒍𝒏𝟐(𝟐) − 𝐥𝐧(𝟐) +

𝟏

𝟒
𝝅 𝐥𝐧(𝟐) +

𝟑

𝟐
𝐥𝐧(𝟐) −

𝟏

𝟐
∫ 𝐥𝐧(𝟏 − 𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)𝒅𝒙 + 𝟐 =
𝟏

𝟎

 

 

= 𝒍𝒏𝟐(𝟐) +
𝟏

𝟐
𝐥𝐧(𝟐) +

𝟏

𝟒
𝝅 𝐥𝐧(𝟐) −

𝟏

𝟐
∫ 𝐥𝐧(𝟏 − 𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)𝒅𝒙 + 𝟐
𝟏

𝟎

 

 

𝑱 = ∫ 𝐥𝐧(𝟏 − 𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)𝒅𝒙 = −∑ (−𝟏)𝒏
𝟏

𝒏
∫ 𝒙𝟐𝒏 𝐥𝐧(𝟏 − 𝒙)𝒅𝒙 =
𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

 

=∑ (−𝟏)𝒏
𝟏

𝒏

𝑯𝟐𝒏+𝟏

𝟐𝒏 + 𝟏
=∑ (−𝟏)𝒏𝑯𝟐𝒏+𝟏 (

𝟏

𝒏
−

𝟐

𝟐𝒏+ 𝟏
) =

∞

𝒏=𝟏

∞

𝒏=𝟏
 

 
 

-∑ (−𝟏)𝒏 (𝑯𝟐𝒏 +
𝟏

𝟐𝒏+𝟏
)(

𝟏

𝒏
−

𝟐

𝟐𝒏+𝟏
) = ∑ (−𝟏)𝒏

𝑯𝟐𝒏

𝒏
−∑ (−𝟏)𝒏

𝑯𝟐𝒏

𝟐𝒏+𝟏
− (𝟐𝑮+ 𝐥𝐧(𝟐) +

𝝅

𝟐
−∞

𝒏=𝟏
∞
𝒏=𝟏

∞
𝒏=𝟏

𝟒) = 

 

2∑ (−𝟏)𝒏
𝑯𝟐𝒏

𝟐𝒏
− 𝟐∑ (−𝟏)𝒏

𝑯𝟐𝒏

𝟐𝒏+𝟏
− (𝟐𝑮+ 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟒)∞

𝒏=𝟏
∞
𝒏=𝟏 = 

 



 

𝟐𝕽∑ 𝒊𝒏
𝑯𝒏

𝒏
− 𝟐∑ (−𝟏)𝒏

𝑯𝟐𝒏

𝟐𝒏+ 𝟏
𝒙𝟐𝒏+𝟏]𝒙=𝟏 − (𝟐𝑮+ 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟒) =

∞

𝒏=𝟏

∞

𝒏=𝟏
 

 

2ℜ(𝑳𝒊𝟐(𝒊) +
𝟏

𝟐
𝒍𝒏𝟐(𝟏 − 𝒊)) + 𝒕𝒂𝒏−𝟏(𝒙)𝐥𝐧⁡(𝟏 + 𝒙𝟐)]𝒙=𝟏 − (𝟐𝑮 + 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟒) = 

 

2(-
𝟓𝝅𝟐

𝟗𝟔
+

𝟏

𝟖
𝒍𝒏𝟐(𝟐)) +

𝝅

𝟒
𝐥𝐧⁡(𝟐) − 𝟐𝑮 − 𝐥𝐧⁡(𝟐) −

𝝅

𝟐
+ 𝟒 = 

 

-
𝟓𝝅𝟐

𝟒𝟖
+

𝟏

𝟒
𝒍𝒏𝟐(𝟐) +

𝝅

𝟒
𝐥𝐧(𝟐) − 𝟐𝑮− 𝐥𝐧(𝟐) −

𝝅

𝟐
+ 𝟒 

 

𝑰 = 𝒍𝒏𝟐(𝟐) +
𝟏

𝟐
𝐥𝐧(𝟐) +

𝟏

𝟒
𝝅 𝐥𝐧(𝟐) + 𝟐 −

𝟏

𝟐
(−

𝟓𝝅𝟐

𝟒𝟖
+
𝟏

𝟒
𝒍𝒏𝟐(𝟐) +

𝝅

𝟒
𝐥𝐧(𝟐) − 𝟐𝑮− 𝐥𝐧(𝟐) −

𝝅

𝟐
+ 𝟒) 

 

=
𝟕

𝟖
𝒍𝒏𝟐(𝟐) + 𝑮 +

𝟓𝝅𝟐

𝟗𝟔
+

𝝅

𝟖
(𝟐 + 𝐥𝐧(𝟐)) + 𝐥𝐧⁡(𝟐) 

 
Note :  G -->  Catalan’s constant 

 


